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QUESTION 1

Which attribute(s) determine the absolute maximum number of partitions for a partition-by- growth table space?
A. MAXPARTITIONS

B. MAXPARTITIONS, DSSIZE

C. MAXPARTITIONS, page size

D. MAXPARTITIONS, DSSIZE, page size

Correct Answer: D

QUESTION 2

Your table space DB1.TS1 is currently index-partitioned. Which steps should be performed at a minimum to make it a
partitioned-by-range table space?

A. Issue ALTER TABLESPACE with a valid SEGSIZE > 0
B. Make the table space table-partitioned, then issue ALTER TABLESPACE with a valid SEGSIZE >0

C. Drop the partitioning index, ALTER the table definition by adding partition ranges to the existing table definition, then
issue ALTER TABLESPACE with a valid SEGSIZE > 0

D. Drop the partitioning index, ALTER the table definition by adding partition ranges to the existing table definition,
create a partitioned index and issue ALTER TABLESPACE with a valid SEGSIZE > 0

Correct Answer: B

QUESTION 3

The application will be handling a large volume of input data that will need to be added to or update 4 different tables.
On average, there will be 50 million input records daily. To ensure that the application process to SQL INSERT and SQL
UPDATE(or SQL MERGE) delivers a high level of availability to the tables involved in this application process, what is a
key component of the application coding?

A. Issue a LOCK TABLE for all 4 tables.

B. Execute the SQL INSERT before the SQL UPDATE.

C. Provide an effective commit / restart process.

D. Run a QUIESCE utility before the process starts.

Correct Answer: C
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QUESTION 4

Given the following CREATE TABLE statement: CREATE TABLE TB1 (C1 CHAR(4), C2 XML, C3 CLOB(1K)) ; How
many VSAM clusters will DB2 create?

Al
B.4
C.5
D.6

Correct Answer: D

QUESTION 5

On what type of index would an ALTER INDEX ADD COLUMN be allowed?
A. An XML index.

B. An auxiliary index.

C. A user defined catalog index.

D. An index defined with BUSINESS_TIME WITHOUT OVERLAPS.

Correct Answer: C
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